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Mohit.. 21 hours ago

Thank-you madamt for this Amazing Class Sessior

And

My Answers for today's Homework are like-

7. Option B-2...
Read more

@b SP  REPLY

Nadeem 21 hours ago

£ Homework Wl =
@ Ans 7 :- Two pairs

@ Sitting Arrangement Sequence :

HCABDGE.
Read more

b GP  REPLY

(.
w ()1 REPLY

Rahul Bhakat 14 hours ago

HW 1) Two Pairs
2)FHCABDGE
Thank you maam!

@y &P  REPLY

e
¥ (=)« 1 REPLY

Debasish Chakraborty 21 hours ago

Homework :
1.2
2. FHCABDGE

THANK YOU MAM. AWESOME SESSION.

@y GP  REPLY

R
v (%) 1 REPLY

ruma rajwar 20 hours ago

homework ans

1)two

2)FHCABDGE(Left to right)
thank you ma'am &«

@b GP  REPLY

e N
¥ ()« 1 REPLY

vinita sah 17 hours ago

HOME WORK
/B

FHCABDGETHANKYOU MAAM NICE SESS

@y GP  REPLY

R
v (%) 1 REPLY

a

simran Lalwani 20 hours ago

H. W Answer:

1.B(2)

2.FHCABDGE

Tysm mam nice session

@y GP  REPLY

o h
v (%)« 1 REPLY

Suman Paul 12 hours ago
1) 2 pairs
2)FHCABDGE

@y GP  REPLY

e
v (%)« 1 REPLY

Limsi chaudhary 12 hours ago

Home work question
From left to right
FHCADBGE

@y GP  REPLY

A
w (3%« 1 REPLY
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Mabanita De 21 hours ago .

Nitika Gupta 21 hours ago
H.W-1.two,2.FHCABDGE.thank u ma'am.

Homework
oy G§H REPLY 7.2

FHCABDGE

~ (=0 « 1 REPLY
b GP  REPLY

_.T-F ,  Madhu yadav 21 hours ago N
i d &= « 1 REPLY

-
homework :-
1st = 2 pair
2nd = FHCABDGE ! D Monika Kumari 21 hours ago
- u__-'_
oy oF REPLY W 2
— oy &P REPLY
w (7=« 1 REPLY
N
w (™)« 1 REPLY
Unnati Bhatnagar 21 hours ago
o Ko
h -f' Homework:- smriti dey 21 hours ago
B)Z
FHCABDGE L=
2-FHCABDGE
oy GFp REPLY
B oy SR REPLY
Lo
v (=« 1 REPLY e
w (=)« 1 REPLY
Sagar Paul 12 hours ago
HW“I ~answer is 2 1‘--;—‘-'.,_ ":‘6 MDI‘Iika I{umari 21 hours ago
HW.2.-FHCABDGE =¥ FHCABDGE
o5 &P REPLY gy P  REPLY

AN —
TR - e
w (™)« 1 REPLY &= - 1 REPLY

-~
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7. How many such pairs of letters are there in the word ‘Objects’ each of which has as
many letters between them in the word as in the English alphabet (Both forward and
backward)?

amﬂ # 3feR) & T fPda wie g, orH I Ude & a9 31 gl &R 8
ﬁmﬁ%a@vﬁm( 3R N g o &2

B.Z
C.3
D.4
E. None

it
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There are eight friends sitting in a straight line facing north direction. A sits fourth
from the left of the line. There is one person between A and H. C sits to the
immediate right of H. More than three people are sitting between C and E. G sits to
the immediate left of E. There is one person between G and B. D sits at one of the
positions to the right of F. C and D are not immediate neighbours.

373 i v Iiedh Y@ A I = & 3k 3@ siee 96 81 A Ufea & a1
@fiﬁﬁ?«’ﬁ;ﬂ?aﬁr%l A 3R H® 9 U fad gl c,Hé?a‘Wliqﬁaa%l C
E%é’ﬁ?ﬂ?ﬁaﬁ%‘mag%'l G, EP 31 qA A3T31 G R B did

F .
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There are eight friends sitting in
a straight line facing north
direction. A sits fourth from the
left of the line. There is one
person between A and H. C sits
to the immediate right of H.
More than three people are
sitting between C and E. G sits to
the immediate left of E. There is
one person between G and B. D
sits at one of the positions to
the right of F. C and D are not
immediate neighbours.
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13.Who is an immediate neighbour of G? 14. Which of the following statements is true?
Gmﬁwmﬁq%? Fafafea d 9 o9 3 sy I 82

A. C A. There is one person between B and E

B. A B. A is sitting second to the left of D

C.B C. Cis sitting at the end

D.D D. Two person is sitting between D and B

E. None of the above E. None of the above is true.

F HCAU BUDGE 15. Find the odd one out.
— fawg g1
A. CB
B.DE
C.BF
D.AD
E.FC
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FHCABLWDGEE 16. Who among the following pair are sitting at the
extreme ends?

Wﬁﬁﬁmﬁaaﬁnwwaﬂ
A

A. F E
B.C,D
C.D,G
D. EC
E.HA

17. How many people are sitting to the left of C?
c % 9 foha A 96 87

A 1

B. 2

C.3

D.4

E. None
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Study the following data carefully and answer the questions accordingly.

WIG PAT FOR SET RUB

8. If the positions of the last two letters are interchanged in each word then how many
words will end with a consonant?
gfe Ud® 2sq A SifaH G 3&RT & TUTH &I U § g &1 9T df TP o &
1Y fHa= el &7 3id g2
A. Two
B. Three
C. One
D. Five
E. None
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Study the following data carefully and answer the questions accordingly.

WIG PAT FOR SET RUB

9. If all the letters in each of the words are arranged alphabetically within the word from left
to right then how many words will remain unchanged?

uﬁmw%mﬂa{&mﬁw%mmwﬁmavﬁﬂwﬁm@mm
SITdT @ ot fpa Weg Srufvafdd w@i?
A. One
B. Three
C. Four
D. Two
E. None
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Study the following data carefully and answer the questions accordingly.

WIG PAT FOR SET RUB

10. If the second letter of all the words is changed to its next letter of the English
alphabetical series then how many words thus formed will have no vowel?

Tl & G SH¢ T SHeR U Sl & TS e B
%%wmﬁwa@%ﬁm&ﬁﬁﬁéwﬁmv e ¥ et e

A. Four

B. Two
C. One
D. Three

E. None of these
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Study the following data carefully and answer the questions accordingly.

WIG PAT FOR SET RUB

11. How many meaningful words of five letters can be formed using the third letter of each
of the given words?

T T Ul g F HIR &R BT IERT $XF T JHaRT et srdfqul e
991U ST Hhd 872
A. Two
B. One
C. Five
D. Four
E. None

it
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Study the following data carefully and answer the questions accordingly.

WIG PAT FOR SET RUB

12. If all the words are arranged according to the alphabetical order from the left to the
right then which of the foIIowmg words will be third from the right?

tlﬁmﬂma‘raﬁ 0S| W%mm@a%m at frafafea o
ﬁﬁﬁmwa’r&ageﬂ%qm? o

A. FOR

B. RUB -
C. SET
D. PAT

E. None of these
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Evelyn starts walking from point Z towards the north. After walking 4 metres, she
reaches point A. From point A, she starts moving towards the east and covers 6
meters to reach point B. From point B, she moves towards the north and covered 4
metres to finally reach point D. Point C is midway between A and B.

uafer fdg 2 A SR 1 iR Ta-T IRF HRdl 51 4 Hiex Id1 & 916, 98 9

Aqvug%zﬁlﬁgAﬁ,agqﬁﬁ%ﬁ:mwaﬂ?ﬁ%aﬁ?ﬁgswﬁg
fore 6 Wex @1 g3 79 Hdl 71 1dg B |, 98 IR Bi 3R I ©

@a%i%rﬁﬁgow fad & [T 4 Hiex Bl gl qa dRdl gl fAgcadR B S
|
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Evelyn starts walking from point Z
towards the north. After walking 4
metres, she reaches point A. From
point A, she starts moving towards
the east and covers 6 meters to
reach point B. From point B, she
moves towards the north and
covered 4 metres to finally reach
point D. Point C is midway between
A and B.
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18. What is the distance between the initial and final 19. What is the distance between point C and
point? point D?

YRR IR sift fig & o #t g aar 22 fifg ¢ ol fig 0 ¥ ot it gt 22

A. 30m A. 8m

B.40 m B.3m

C.10m C.4m

D. 60m D.5m

E. None of these E. None of these

20. Point C is in which direction with respect to

_D point A?
2&] am || TG A D TgH 7 fig c fpa faamd 32
A — 4 m A. North - West
c B B. East
4m E’,;,’{“ C. West

A D. South
E. North
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In the following questions assuming the given statement to be true, find which of the
conclusion(s) among given conclusions is/are definitely true and then give your answers
accordingly.

21. Statements: 22.T>W>U=R<H
R<Vv<cQ=T>W A.T>U
B.W<H
Conclusion: C.R=H
. R<T D.H<W
n.Q>w E. None of the above
A. If only conclusion | follows 23.S=H<O<R=T
B. If only conclusion Il follows. A.H>R
C. If either conclusion | or Il follows. B.O=T
D. If neither conclusion I nor Il follows. C.S>T
E. If both conclusions | and Il follow. D.H>T
E. None of the above.
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24. How many meaningful words can be formed using the 1st, 3rd, 5th and 11th
letters of the word INHERITANCE using each letter only one in the word?

T[sS INHERITANCE ® UBd, dI¥, 54 3R 11d 3M&RT BT TINT B fhd
3rfTut Teg ST o AHA &2

A. 1

B. 2

C.3

D. 4

E. None
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25. Statements:
Only a few pastries are sticks.
Only a few apples are pastries.

Conclusions:
I. Atleast some sticks are apples
Il. No stick is an apple.

26. Statement:

Only a few Den is Cone. E]

All Fountains are Cone.
No Salt is Den.
Conclusion:

All Fountain can never be Den.
Some Cone is definitely not Salt.

A. If only conclusion | follows
B. If only conclusion Il follows.
C. If either conclusion | or Il follows.

D. If neither conclusion | nor Il follows.

E. If both conclusions | and Il follow.

27. Statements:

No River is a Sea.

No Cloud is Sea.

Conclusion:

A) No Cloud is River.

B) At least some Cloud are River.
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Eight friends, A, B, C, D, E, F, G and H, are living in an eight-storey building, but not
necessarily in the same order. The ground floor is numbered 1; the floor above it is
numbered 2; and so on, until the topmost floor is numbered 8. Only three people live
between A and F, who lives on the lowermost floor. Only two people live above G, who is
not an immediate neighbor of H. Only two people live between A and D. C lives on an odd
numbered floor above D. E lives on a floor immediately above H.

31S 1, A, B, €, D, E, F, G 3R H, T 3(TS HfTaT SHRT A I8d 8, dfh o] gl
=it ®H | g P GG 1 ¢ 9P SR B Tierd Bt 9@ 2 7 3R g @E,
ww%m%rgqﬁﬁmﬁmaqe’rml A 3R F & S Had <l i
¥gd 8, ol Jad fad! 6iTd TR Igd1 81 6 & HUR Had gl Al ¥8d 8, Sl H BT
fpcan TS 781 81 A 3R D & ¥ Fad gl AR Ied &1 ¢, D P HUX TP faud
AT aTell Tt TR IEAT @1 E, H &SI SHUR arelt HivTd U= IgdT 8|
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Eight friends, A, B,C,D, E,F, Gand H,
are living in an eight-storey building,
but not necessarily in the same order.
The ground floor is numbered 1; the
floor above it is numbered 2; and so
on, until the topmost floor is
numbered 8. Only three people live
between A and F, who lives on the
lowermost floor. Only two people live
above G, who is not an immediate
neighbor of H. Only two people live
between A and D. C lives on an odd
numbered floor above D. E lives on a
floor immediately above H.
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28. Who among the following lives on the topmost floor? 29.How many people live between F and G?
%ﬁﬁﬂaﬁmqﬁmwmév Fx’rﬁl’G%éﬂﬁﬁﬁ?ﬁ‘TT@'ﬁ%’?
A H A. 5
D.F E. A D.4 E. None of the above
30 Who among the following lives below H? 31. On which floor does A live?
éﬁmq% YgdI 872 A f5a wfoTd R Igar 82
A. D A. 2nd B.3rd C.4 th
D.G E. C D.5th E. None of the above
32 Who among the following lives on the 7 th floor? Floors | Persons
5 ﬁﬂ gradl |#fore R Ygd1 82 8 B
A. D D.A E.F 7 C
o] G
5 A
E E
3 H
2 D
1 F
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Study the following information and answer the questions that follow.

In a family, P is married to Q. R is the only sibling of Q. S is the only nephew of R. R
is unmarried. T is the grandfather of S. U is the only son of T. T is married to V.

gRaR d, p, oY
Wml?ﬂm%% G ﬁ;@i%%@ﬁgm%”&%ﬁ%m
g
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33. If U is married to X, then what is the relationship of X with respect to V?
gfe u, x A faarf@d g, af v & JaY | X &1 FT JaY g2

A. Son B. Son-in-law C. Daughter-in-law D. Daughter E. None of these

34. How is P related.tp S?
p, s I fpd UpR Tafdd g2

A. Mother B. Father C. Uncle D. Brother E. Sister

T—V

35. How is Q related to P ‘
Q, P. ¥ f5d YR Hafta g2 b
A. Sister B. Father C. Wife
D. Husband E. None of the above
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Six persons J, P, Q, R, V, Z are sitting in a row. Some of them are facing north
while some of them are facing south. J sits second from one of the extreme end
of the row. P sits third to the right of J. R is not an immediate neighbor of P and
Z. Both the immediate neighbors of V faces opposite direction. Both the
Immediate neighbors of Z faces same direction. V sits second to the left of P. Q
sits to the right of R. R faces north. Q faces same direction as Z.

‘%
a
5
il
2ch
.
4
3
4
3
5

Feean usiiRmal 1 W%‘mﬁaﬂ? v,pé?aﬁ VMW
EE) |R$Tgtq'waﬁah'\r%m$rg@z T fo=m

dhull ‘1:3()‘

.
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Six persons J, P, Q, R, V, Z are sitting in a row. Some of them are facing north
while some of them are facing south. J sits second from one of the extreme end
of the row. P sits third to the right of J. R is not an immediate neighbor of P and
Z. Both the immediate neighbors of V faces opposite direction. Both the
Immediate neighbors of Z faces same direction. V sits second to the left of P. Q
sits to the right of R. R faces north. Q faces same direction as Z.
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A QN A I 1. Four of the following five are alike in a certain way, and so form a
[Il ; {; ‘E ' *é’ group. Which of the following does not belong to the group?

Prafefad U & @ 9 we Pt % @ 9 6, o
S9eC U 9g §41d ¢ | Fefifa A 3 s agg |
Haftd gl 872

(aA)R,V(b)V,P(c)J,P(d)V,Q(e)J,R

2. What is the position of Q with respect to Z?

2% G<H H q BT VI HT 8?2

(a) Second to the left (b) Third to the right (c) Third to the left (d) Fifth to
the right (e) Second to the right

3. Who amongst the following sits exactly between Z and J?

fafafed 7 9 14 z 3R 1 & St dig d da1572

(a) R(b) P (c) Q(d) BothVand Q (e) V
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P31 1 4. How many persons in the given arrangement are
Z Q

R ] v facing North?

?nﬁwﬁﬁmﬁw%wﬁmm

(a) More than four (b) Four (c) One (d) Three (e) Two

5. Who i§ sitt|n§4th to the right of Q?
QPRI N 93182

(a) R(b)Z(c) P (d) J (e) None of these
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6. Statements: No symbol is letter.

All expression are letter.
Some symbols are word.

Conclusions: I. No word is letter.

II. Some symbols being expression is

possibility.

(a) Only I follows

(b} Only II follows

(c) Either I or II follows

(d) Neither I nor II follows

(e) Both I and II follow

7. Statements: Some logic are answers.

All keys are answers.

Conclusions: 1. All keys are logic.
II. No keys are logic.

(a) Only I follows

(b} Only II follows

(c) Either I or 11 follows

(d) Neither I nor Il follows

(e) Both I and II follow
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8. Statement: All numbers are digits.

Some numbers are points. -
Some points are marks. F

Conclusions: I. Some points are digits.
[I. All marks being numbers is a

possibility.

(a) Only I follows

(b) Only II follows

(c) Either I or II follows

(d) Neither I nor II follows

(e) Both I and II follow
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Seven boxes M, N, O, P, Q, R, S are arranged one
above another. Only two boxes are placed
above box P. Only one box is placed between
box S and P. As many as boxes are placed
between box S and Q as between box Q and M.
Three boxes are placed between box N and O. N
is placed above O.

garafssim, N, 0, P, Q, R,sﬁvwgi%
SUR afRYd fobaT AT 3| 91 p & HUT
had &l STFI YA MY S| diag s 3R p b i
$9 U q1ag T AT 8| STRI s 3R QP
oY Iq 81 9Te ¥ 7Y ¢ ford aTert q 81R
M & 19 7@ U & | I 9T a1 N 3R 0
P TATIL TR I N T 3N B



http://www.mahendras.org/

/ W athendna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Boxes
S 9. How many total numbvers of boxes are placed in
between box S and Q? 9169 § 3R Q & a9 H $@
N fera=it S § 9Tad ¥ T &7
P (a) Two (b) One (c) Three (d) More than three (e) None
Q
R 10. Which of the following is true regarding Box N?
0 diqd N P oy H Fafiafed # 4 o9 9 ad@ 82
M (a) Three boxes are placed between box Q and N (b) Box N

is placed below Q (c) Box N is placed at top (d) Only one
box is placed above box N (e) No box is placed between
box N and R

11. Whichvbox is placed at top?
DI 91 9199 99 SHUR 39T T 82
(a)S(b)N(c)Q(d)R(e) M
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Boxes
S 12. Which box is placed immediately above box Q?
N fesam Q & St FUR HIF-A1 fess a1 T 82
p (@) M (b) P (c) S(d) N (e) R
Q
R
0 13. How many boxes are placed in between R and M?
y R 3R M & A fhaq fesd 71 U &2
(a) Two (b) One (c) Three (d) More than three (e) None
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“arrange things in order” is coded as - “po gb ik mn” F | 1 -=0 ‘
. |

“order for new things” is coded as - “po gb fc bv”
“new places to order” is coded as - “gb cq bv ra”
“places in unknown country” is coded as - “ de ra If ik”

N |
17. What may be the code for “ in country”? 14. What will be the code for “order”?
(a) If ik (b) de ik (c) po gb (d) either (a) or (b) (a) gb (b) fc (c) cq (d) ik (e) can’t be determined
(e) None of these

15. What may be the code for “things to vanish”?
(a) po cq hx (b) po vm ik (c) cq fc ik (d) either (a) or (b)
18. “bv” is the code for? (e) None of these

(a) things (b) new (c) arrange (d) places
(e) None of these

16. What will be the code for “ arrange”?
(a) gb (b) mn (c) cq (d) ik (e) can’t be determined
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Six persons A, C, Q, R, T, Y were born in six
different months January, April, May,
August, September, December of a year.
Three persons were born in between A and
Y. A was born before Y. No one was born in
between C and A. Two persons were born in
between C and R. T was born before Q.

DEAMGIA, C, Q, R, T,YUH g4 & B
em,ﬁlw,ﬁﬁmﬁéa$&maﬁ?
y & a1 & 9 aafad ver | A BT S+
Y ¥ UgS g3 4TI ¢ 3R A & g H fpdt
BT T8l g3 UTI R RF AT H G

AfFTUGIEU Y| T HT 7T Q | TS §aT
T
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Months Persons 19. Who among the following was born in May?

January C (a)C(b)A(c)Q(d)T(e)Y

April A

May T

August R

September Q 20. How many persons were born between A and Q?

December % (a) One (b) Three (c) Four (d) Two (e) None of these
23. Which of the following is not true 21. How many persons born were before R?
regarding Y? (a) One (b) Three (c) Four (d) Two (e) None of these

(a) Four persons born between C and Y
(b) R was born before Y

(c) Qis born immediately after Y

(d) Only Q was born between Y and R
(e) No one was born after Y

22. Who among the following is the oldest?

(a)C(b)A(c)Q(d) T (e)Y
E 3 -=0
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24. A family consists of five members A, P, R, T, H. P is wife of A. R is the daughter
of A. R has only one brother T. H is daughter-in-law of P. How is H related to R?
U URAR A T S A, PR, T,HG | P,ADI Tl 31 R, ADTI A 81 RFT
$ad TP HUIS TG | H, P B TAAY 7| H fHT TPR Haftd g2 3R &I?

(a) mother (b) sister-in-law (c) daughter (d) daughter-in-law (e) none of these
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25. If the digits of the number “46752983” are arranged in increasing order form
left to right within the number, then how many digits will remain on the same

position after the applied operation?
gfe YBAT "46752983" & 3| I HEIT P HIdR I1¢ | &T¢ I¢d HH H
gYd T S1dT &, 9 a1 SITIRRE & 916 fha- 3@ oM VI 1R

B2

(a) Two (b) One (c) Three (d) Four (e) None of these
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26. How many meaningful words can be made by using letters ‘A’, ‘F’,
‘L’ and ‘T’, keeping L as the first letter of the word?

L ] e BT UgT &R IGd U 'A', 'E, L' 3R 'T' SA&R| BT TIRT
B fhra- YUl e §HTY ST JAhd 872

(a) One (b) Two (c) Three (d) Four (e) None of these
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Point E is 15m east of point B. Point G is 20m north of point E. Point K is 10m east of pomt G. Point M is

30m south of pomt K Point P_is 20m west of point M Point L is 10m north of point P. a? 15
LCE foig ed 20 fiex IR A I fdgk g FH 10 Her gd d 3
301112?3%01 ﬁgma?zoﬂiz?trf%m %l ﬁgtﬁmmrﬁ?\rwﬁ%l

27. If Point V is 10m east of point S and Point S is 10m
north of point L, then what will be the distance between

point E and V'-’ ﬁ%s% 10'Fﬁ ﬁ%aﬁ?
fdg s, ﬁl‘g’L%mIﬁB?R Vd o

3T o3t 1 g

(a) 10m (b) 15m (c) 20m (d) 5m (e) 25m

28. What is the total distance between point B and L?

g B 9 L & o P 5o g foperii 272

(a) 10m (b) 15m (c) 20m (d) 5m (e) 30m
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29. If Point Z is 10m north of point M, then point what is the

distance between poin EandZ?'CIﬁ' Iz 1d M & 10H IR
e ey 8

(a) 10m (b) 15m (c) 20m (d) 25m (e) 30m

30m
15m

B L E
om 30. Point K is in which direction from point P? ﬁg K, ﬁ’g" P
P — Mo fea feRnd g2
(a) South (b) South-east (c) North (d) North-east (e) North-west

31. Four of the following five are alike in a certain way, and so
form a group. Which of the following does not belong to the

group? FIUTAIRAd Uig # I IR U Hfdd aiid | 90 &,
3R 3HfIE Ush |Hg §911d 3 | Fufifad # Qo1 ayg 4

Tofd T8l 82
()P, L(b)P,M(c)G,E(d)L,E(e)G, B
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13534592872365273812184981247352489824

32. Which element is exactly midway between the seventh element from the left end and

sixteenth from the right en ?ﬁq : . : . &
Bﬁ%m’i\r%%?th ght end 9T dcd ¢ DR A ITdd 3R 21¢ DR A idgd dd

(a)8(b)2(c)5(d)6(e) 7

33. How many perfect squares are there to the right of the fourteenth element from the right
end? AIGEd dd & G BR ¥ M 3R v+ yof avf g7

(a) Two (b) One (c) Three (d) Four (e) more than four

34. How many perfect cubes are there in the above arrangement, each of which is immediately
preceded by an odd number and immediately followed by an even number? SURIad AT

ﬁ:m;f‘lf’fiﬁ%l R @ 7l & 319 Ugd Uw faud W@ SR 3i@ a1¢ U IH

ST B2 -

(a) None (b) Three (c) Two (d) One (e) More than three ‘ 1 -=0
S
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13534592872365273812184981247352489824

35. How many such odd digits are there in the given arrangement, each of which is
immediately followed and preceded by an odd number?

¢l % a1 | T fova= fauw oie &, o 9 Ude & 31 a1g U faww
ST 872

(a) None (b) One (c) Two (d) Three (e) More than three

36. Which of the following element is 5th to the right
of 10th from 'ghe right end? . . .
frafafed d 9 19 91 9@ g’ B8R | 109 & g

d 5di 82
(a)9(b)8(c)2(d)1(e)4
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There are six wallets A, B, C, P, Q and R, each containing different amount of money in it. Wallet B
has more money than wallet Q but less than wallet P. Only wallet R has more money than wallet
C. Wallet Q does not has the least amount of money. The wallet containing 3rd highest amount of

money has Rs. 3000, which is Rs.1000 more than the wallet which has 2nd lowest amount of
money.

BEAlGCA, B, C P, Q3RRE NH A TS H -2 dldc B P U dide QI
P A HH | Pdd dldc R P UrH dide ¢ ¥ 3ifre T 2| ?ﬂﬁzqﬁ
A HH AR 81 3 | T Jad IS1 I 91 dieie T . 3000, ST 3 didie ¥ 10

00 ¥
SEETS.

.

!
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R >C >P(Rs.3000) >B >Q (Rs.2000)> A

1 - 3 0 ‘ 37. Which of 'ghe foIIowiQ wal.let has the least amount of money?
| = Frafafea o | foa 315'6 H gad & Ay 82

(a)A(b)B(c)C(d)Q(e)P

38. What may be the amount of money in wallet C?
dide c § fora-t iR g1 &l 872

(a) Rs. 2500 (b) Rs. 2000 (c) Rs. 3500 (d) Rs. 2250 (e) Rs. 2100

39. What may be the amount of money in wallet B, if it has Rs. 250 less

than the wallet P? didc B H fohd=t 'EFRTQTEPfﬂﬂ’TCﬁ%, ‘Tﬁmw
¥. 9¢U P 250 HH?
(a) Rs. 2500 (b) Rs. 2750 (c) Rs. 3500 (d) Rs. 3250 (e) Rs. 2200

40. Which of the following is true regarding wallet P? dide P& ey | ﬁ'ﬁ'mﬁ A9 GaC
1 9 §7?

(a) Only wallet A has less money than wallet P (b) Wallet B has more money than wallet P

(c) Wallet P has 3rd highest amount of money (d) Wallet Q has more amount of money than P
(e) none of these



http://www.mahendras.org/

/ W athendna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Ten people A, B,C,D, E, P, Q, R, S and T are sitting in two rows. Five people in each row
facing each other. A, B, C, D and E are facing north. P, Q, R, S and T are facing south but not
necessarily in the same order. C sits third to the right of A. One who is sitting opposite to C
sits immediate left of R. Only one person sitting between R and T. Only two people are
sitting between T and S. One who is sitting opposite to Q sits third to the left of B. But B is
not sitting at the extreme ends. Number of persons sitting to the left of P and number of
persons sitting to the Left of E is same.

a'HGEr%A B,C,D,E, P Q,R,S 3R T3l Ul § 94 g 1| U Ufed | Uid @ U
odY & I %IABCDGﬁTEWEﬁGﬁTm%IPQR s R THT YT
'q'f‘&ruraﬂah?% 3ATIIYP ol SAT HHHA Bl C, A %aﬁﬁ?ﬂﬂ%wwaa
| ﬁq'ﬂ?raa'ratr%m%maﬁaa%maﬁ? % o9 BHad U Afad 9671 5|
Q%ﬁ@ﬁaﬁr?ﬂ%?ﬂﬂi’wwa‘o’r%ls%
aﬁﬁ?lﬁ%séﬂ?ﬂiﬁ?ﬂ?ﬂﬁaﬂ%lpﬂ?aﬁaﬁ?aﬁmﬁméﬁ?E
& 915 3R oS feadl o1 I JHH g

%”zy
g
:
EE
2 F
%
§E
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Ten people A, B, C, D, E, P, Q, R, S and T are sitting in two rows. Five people in each row
facing each other. A, B, C, D and E are facing north. P, Q, R, S and T are facing south but not
necessarily in the same order. C sits third to the right of A. One who is sitting opposite to C
sits immediate left of R. Only one person sitting between R and T. Only two people are
sitting between T and S. One who is sitting opposite to Q sits third to the left of B. But B is

not sitting at the extreme ends. Number of persons sitting to the left of P and number of
persons sitting to the Left of E is same.
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30. Who among the following sits diagonally 32. Who sits opposite to A?

opposite to S? A % faUd B9 93T 22
mﬁﬁﬁ?s%ﬁﬂfﬁ faudia da1 a)P b)Q c¢)R d)T e)S

872

a)D b)A <¢)B d)C e)None of these

31 Who amo éthe followin %does not belong to the group?

Hafa T8 32 Q P
a)Q b)s ¢)C d)D e)E Lol | |

-
p o
"
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33. How many persons sitting between D and C?
D 3fiX ¢ & AeH fpa- sufag 96 82

a) One

b) Two

c) Three

d) Four

e) None of these

34.Who sits second right of S? ~ f 3
s I @ g WM W $H 337 27 LT 1T 1 1

a)P b)Q c¢R d)S )T
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